EA ﬁ@N Road Star FiberglassBattery Covers

Clistorm Accessoriss
o “Hhray s Bexy Criveer Porre”™ e 3

"

__‘__-_-_._.‘__.-" —— —

/ BA-9224-00 Page: 1

.. . Our install guides provide a basic outline on the proper installation of our
ReWS on: 12 = 07/26/2010 products. Further tuning and/or fitment may berequired. Baron bearsno
responsibility on installation costs associated with this product.

INCLUDED IN THEKIT:

(2) 5/16-24 Jam Hex Nut (2) #10 Lock Washer
(2) 10/32" x 1-1/4" Hex Head Screw (1) Side Cover (Left & Right)
(2) #10 Flat Washer

INSTRUCTIONS:
Pleaseread ALL of theinstructions BEFORE beginning the installation.

We recommend the use of blue L octite on all fasteners and mounting hardware.

1. Remove stock metal side covers per standard shop manual procedures. You will bereusing thetwo rubber
grommetsand M6 screw from stock side covers. Install rubber grommetsin new Baron left-hand side cover.

2. Install new right-hand side cover onto bikefirst, securing to frame with stock M6 screw through metal
bracket in side cover.

3. Position left-hand side cover on bike, diding rubber grommets over metal posts on right-side cover .

4. Securerear of each side cover to frame using supplied hex head screw hidden fasteners. Pass these screws
through stock threaded mounting holesin frame from behind and thread them into new side covers. Fasten
securely.

NOTE: If your bikeis equipped with a set of Baron Braided Stainless Oil Lines, you will need to trim the bottom of
right-side cover for clearance around theselines. Test fit cover prior to painting and trim as needed for proper fit.

Our ingtall guides provide a basic outline on the proper installation of our products. Further tuning and/or
fitment may be required. Barons bears no responsibility on installation costs associated with this product.
© 2024 Bar ons Custom Accessories

5221 Oceanus Drive * Huntington Beach, CA 92649 < (657)200-3840 - Ph. * (714)901-0520 - Fax * www.baronscustom.com ¢ tech@baronscustom.com



